XYNAPTHXH ITAPAT' QI'OX
sin x COS X
CoS X —sinx
tan x = sin x/cos x 1/cos® x
cotx =cosx/sinx —1/sin* x
secx =1/cosx sec x tan x
cscx =1/sinx —cscxcotx
arcsin x = sin”' x 1
1-x*
arccosx = cos”' x 1
1-x*
arctanx = tan”~' x 1
1+x°
arccotx =cot™ x 1
1+x°
arcsecx =sec” x 1
xWx? -1
arccscx =csc' x 1
xvWx? -1
e —e cosh x
sinhx =
cosh x — ﬂ sinh x
tanh x = sinh x/cosh x = e’: — e_: ;2
e’ +e cosh” x
cothxzcoshx/sinhx:—ex+e i - 12
ef—e* sinh” x
sechx =1/coshx = — 2 — —sec/x tanh x
e +e
cschx =1/sinhx = — 2 — —cschxcoth x
e —e
arcsin ix = sinh ™' x 1
x*+1
arccos hx = cosh™ x 1
x* -1
arctan x = tanh ™' x 1
1-x?
arccothx = coth™ x 1
x? -1
arcsechx =sech™'x 1
xVl-x?
arccschx =csch™'x 1
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